
© Copyright 2005 Nebraska Irrigation, Inc. All Rights Reserved.

175

A

B

C

D

E

F

G

H

I

J

Parts Breakdowns

PH: 402-564-1514  •  FAX: 402-563-2792  •  Columbus, Nebraska  •  nebraskairrigation.com

������������������
�������

��

��

��
��

��

��

�

�� �

��

�

�

��

��

��

�
��

�

�

��

��

�

��

�

��

�

�

�

�

��

��

��

��

�

��

��

��

��

��

��

�� ��

��

��

WHEEL GEARBOX PARTS

NI Replacement Gearbox Parts for:

Omni Standard and Valley Type — 610502 & 610504

Item NI Part # Qty Description

19 911XX 1 Seal, Output
20 902XX 1 Shaft, Output for 610502
21 902106 1 Shaft, Worm, Input, for 610502
22 89012 2 Plug
23 200XX 8 Bolt
24 20073 4 Screw, Cap, 1/4-20 x 1/2
25 91002 8 Screw, Cap, 3/8" - 16 x 1
26 911XX 2 Seal, Input
27 902XX 1 Shaft, Worm, Input, for 610504
28 600XX 1 Gear, Worm, for 610504
29 902XX 1 Shaft, Output, for 610504
30 82002 8 Nut, Lug, 9/16-18
31 20002 8 Bolt, Press-In, 9/16-18 x 1-5/8"
32 972117 4 Washer, Lock, 1/4"
33 90623 1 Shield, Input Shaft Protector

Item NI Part # Qty Description

1 27073 2 Cap, Input, Open End
2 44049 2 Cup, Bearing, Input
3 37033 2 Cone, Bearing, Output
4 44028 2 Cup, Bearing, Output
5 17079 2 Cone, Bearing, Input
6 32001 1 Chamber, Expansion, Flat Top
7 46008 1 Diaphragm, Expansion Chamber
8 600XX 1 Gear, Worm, for 610502
9 570XX 1 Gasket, Hub

10 570XX 2 Gasket, End Cap
11 670XX 1 Housing, Flat Top
12 680XX 1 Hub
13 72008 1 Key
14 911107 2 Seal, Input
15 898XX 1 Snap Ring, Output
16 908XX 2 Shim, Input
17 908XX 1 Shim, Output
18 918XX 1 Spacer, Output

Valley Type

Standard

Valley Type

Standard

Valley Type

Standard


